Honeywell |31 i

PRAR SIS BITIENITES

VA
7 Je T3 /KRPRA R BN AAT FEAAT &2 XU E F i e v 50T

RUATRERE ML, T2 i i i s XU R R A O A AT R I T

HAESH
BT B E 0°C~60°C
fifi A7 I Bl -25°C~60°C
HAUET 0.14~0.7MPa (140-700kPa)

SERLAIPEES G | 1P66

SENLARSNEM R CGTTAED | R854

NS5 4-20mA
‘E_HAE;J /T hE,_‘:A %‘D -
W RN/ HE S R E. 4-20mA (iR

TR ot 24VDC
TR B4
LR IT R

PRA _[ XXX ] [XX]

[ PRA=SENAITIZINITER }—

=Hl AR
T=FFk8
MN=TET Y, R
MF=ET B, BRiE

SN=Ei S S4iEATE, tRiE

XXX={HEE XA | ,,
\SF—IJ_KMF.?%,:EwﬂwE; BR® )
PAT SRR H AR
SEARNFESIEES (Bar) BEHEHASE (Nm)
#E5 OS# 2 3 4 4.5 5 5.5 6 7
PRA-003XX 15 22 29 33 36 40 44 51
PRA-004XX 20 30 40 45 50 55 60 70
PRA-009XX 45 68 90 102 113 124 135 158
PRA-020XX 100 150 200 226 251 276 301 351
PRA-030XX 171 256 342 385 427 470 513 598
PRA-050XX 266 399 532 598 665 731 798 931
PRA-080XX 426 638 851 958 1064 1170 1277 1490
PRA-100XX 532 798 1064 1197 1330 1463 1596 1862
PRA-150XX 769 1154 1539 1731 1924 2116 2308 2693
PRA-230XX 1305 1958 2351 2937 3263 3589 3916 4569
PRA-320XX 1602 2403 3205 3605 4006 4406 4807 5608
PRA-480XX 2399 3598 4798 5398 5998 6597 7197 8397

EES-FDA-PV-AUGUST-2017-V06-CN



PRAZR SIS AATREIAT 45

PATBIZEHITT
24077 BINME SRR | RS SRR FC B P B A PGS ERRE
EVINECS . UG IR R N, BT SRR 2
i it N7 -

T-JF %A TFRAES - LT R AR S OREHRO0RE i
MN-PTRTESR S | 4-20mA x S it 3 FLUR SHEEE TN ME R
MEF-ifi 5 B = b 4-20mA 4-20mA A R R S o e PR A 0FE 90T
SN-1Ji 5 A4 S 15 4-20mA 5 Wi {5 SHUE T RBIERLAS | s py B0 f2 B A, BT 58
SF- 1 11 AL AT S 5% 4-20mA 4-20mA WiE s R s | R,

TIRMIRLL

1 BRSPS ROAZAME T0. 6MPa, AET-1. OMPa. I8 0SB LR~ N1 /455~F, NS ENINL,
BT E: AELERRERACE, i 5 WA T RS, FTFHK. EE: R RA AL T KPR .

3. WSLERUCAIRTT RS S AT REPAT RS, HE A i kR,

BMIANES: 4-20mA;  UES: 4-20mA PR A, Al 78 RBHE 5 T A28 3R B Bifs =)

‘ 4o 20 mA + r—ro
INPUT o ) — IN+: SNBSS IEWRTF
- ot
9~ 28V DC Ly | IN-:  BAESHERT
HHI
OUTPUT FG: Bty
4~20mA DC
Mox 60082
(Wire Resistance) OUT+: RIR{ES IEHKImF
Load _‘ _
— [ OUT - RSB T

|

4y WRSERUONTF RSB MATIERIT &%, HARETIEIT o T RM S h 2l A PIANE I F R AR T %
LI . 20, AT HIR, HEDN24VDC, HIJTR(E S
BRAZIFR: TFRARRIRALIE A, SRRk, W] DR EIT A0 RS 5 o

15T (4af)

HH (NC) O- O 1
AjtH () o—2IWT (BB 057
#IF (NO) O 3’2%5‘ & []™73]
B (NC) oo T (RE) Ol |4
At (© O 5*7?% (A& QE 5
#IF 0 o—CPRT BB O] TG
o : O—:———-O — |7 N
BRALFF % :L_ fﬂ_m;ﬁ‘?_ ot O ry FELE )




PRAZR SIS AATREIAT 45

SELAMERSTMEE

1 X & ‘ O i
N + x‘\
.
DIN/ISO 5211 OF G
DIN 3337 \ I

KE: mm HE: kg

2 OS# A B c D E oF G H L HE

PRA-003XX | 83 88 20 ®50 | 70 | 14 [4-M6x10 | 4-M8x13 172 2.15

PRA-004XX | 955 | 100 20 ®50 | 70 | 14 [4-M6x10 | 4-M8x13 188 2.60

PRA-009XX | 108.5 | 117 20 ®50 | 70 | 17 [4-M6x10 | 4-M8x13 268 4.55

PRA-020XX | 143 |156.5 | 30 ®70 | ®102 | 22 |4-M8x13 | 4-M10x16 322 9.20

PRA-030XX | 163 [173.5| 30 | ®102 | ®125 | 27 |4-M10x16| 4-M12x20 406 12.00

PRA-050XX | 175 [198.5| 30 | @102 | ®125 | 27 [4-M10x16| 4-M12x20 475 20.25

PRA-080XX | 207 | 231 30 / ®140 | 36 / 4-M16x25 544 31.35
PRA-100XX | 227 | 256 30 / ®140 | 36 / 4-M16x25 562 45.70
PRA-150XX | 261 292 30 / ®165 | 46 / 4-M20x25 642 54.50
PRA-230XX | 295 | 331 30 / ®165 | 46 / 4-M20x25 740 79.00
PRA-320XX | 335 | 352 30 / ®165 | 46 / 4-M20x26 774 99.00

PRA-480XX | 385 | 408 30 | ®165 | ®254 | 46 [4-M20x26| 8-M16x25 912 156.0

©2017 BERF/RBAUTH, HREFAEBF . 2RBNERE, BARATEL.
3




